
1918955

101 LC SIDE FRAME Plan No.
E00041737/A.1

Scale: 1:8 Drafted Verified Confirmed
Date 07-05-2024 07-05-2024 07-05-2024

Initials MP DB PJ

Material IN
No. Plan Article Qty
|1 P00041590�DP 1I012..(R) 1

P00041585�DP 1I013..(L) 1
|2 P00041063 1I016.. 2
3 --- 3990041 2
4 M6x25 ISO7380 1006998 2
5 XP00094 2990044 2
6 D4.8x22 DIN7981 2990070 4
7 X003579 1998414 4
8 X000582 1005740 2
9 M6x45 ISO7380 1991017 2

10 M6 DIN125A 1001564 2
11 M6 DIN986 1008492 2

**12 XC00037 3990106 2
*13 XC00122 3990395 2
*14 X003801 1900365 2
*15 M12 DIN985 1001684 4
** M12 DIN985 1001684 2
16 X003596 1998528 2
17 ------ 3990521(R) 1

------ 3990520(L) 1
18 XP00095 2990045 2
19 M12 1003294 2
20 M12 DIN127A 1001572 2
21 P00006412 1991447 2
22 M12X100 DIN931 1009034 2
23 M8x76 DIN7984 1998993 2
24 M8 1998994 2
25 200x50 1914609 2

* For 101 Fixed Version

** For 101 B80 Version

Right side only depicted
Quantities are for one wheelchair

VERMEIREN

1

2

3

4

56

8 9
10

11

12

13

15

18

17

19

7

7

20

21
2324

22

25

15

16

14


